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p (Function Operations)

1) Iffx) ==x" - 1 and g(x) = 2x ; find the following.

) (g. /)G i) f=))-g(=y)

2) Iffix) =3x* + 12 and g(x) = x> + 4x ; find the following.

) 80 i) (f+2)30

PREVIEW

) (g-/u+1) Gain complete access to the largest
collection of worksheets in all subjects!

Jr)

3) Iffix)=-4-xand,

Not a member
4) Iffix)=-x"+3x+1 Please sign up to

93in complete

i 6S+5)+f(6s+5
) &l )+ qccess,

www.mathworksheets4kids.com

5) Which of the following represencs jizua) . gi2a), i jix) = —o —x and g(x) = 9?7

i) 18d-54 i) -9d+12 i) 9d-12 iv) -18d-54

6) Which of the following represents g(n°) + f(n?), if fix) =x + 1 and g(x) = -2 + x?

i) 2n*-1 i) n’+2 i) n*-2 iv) 2n°+1
\_
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Name: Answer key

- (Function Operations) heet3
1) Iffx) =—x" - 1 and g(x) = 2x ; find the following.
) (g. )G i) fI=y)-g-y)
351, a2y
79 ~71 V+37)V%

2) Iffix) =3x> + 12 and g(x) = x> + 4x ; find the following.
) &1 i (f+2)(30
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3) Iffix)=-4-xand,
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5) Which of the following represens jizua) . gi2a), i jix) = —o —x and g(x) = 9?7

i) 18d-54 i) -9d+12 i) 9d-12 iv/—18d—54

6) Which of the following represents g(n°) + f(n?), if fix) =x + 1 and g(x) = -2 + x?

N 27 -1 i) 242 i) n2-2 iv) 222+ 1
N
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